+1 Chemistry key 2019

Q.No Option Q No Option
1. c 6.022 x 10** g5 2. a. yylnesr
L6V & Fo M| BT
3. a.A-2,B-3,C-4, D-1 4. d.8
S. C. Siguihlesfwiid 6. d. ameuwfedsneo
7. c. CaCl, 8. c. mlwedy g&ma®
9. C. G6UUIGUOITLDL] LIT6D 10. a. &Auwibd
11. c. P 12. c.1/8
13 a.-900J 14, d o pgmie] symmed
15. a gapml &f SMIEUILLSaIM)
Q.No Answer Marks
16. 1.0088 emami yesir (@) 88 guéfm6 (@) 35.458 @Gemmilein
SHWHCOHTH CEFFUGNEG (S) QLIAUUITES QFLILSFalqUl 6 S6oIDLD
(o)) GawLd (o) SiwesNuiest HenmGWI SiGH6oT HIFTD FLomeor Hlemm eTerLIL(HLD
17. Mn®' ee0dl gre Senwoliy 1s” 2s” 2p6 3s” 3p6 3d° 4s" + 1
Cr' stevél greir oemwotiy 1s” 2s° 2p° 3s” 3p° 3d° 4’
18. &rjUesilesr MUl 2 (HeueTe| WMHMID 2 L& LH6T&HmD UHHLD 2 6L WG
19. > SlIGEIh 2 6m6u&erleL HILLL N6 &6l CousHmGHs GHMMEESLD
LLEUUGSHWTS
> gl flund suwimlifed
> GeudlaNensusefler euf(WenMEET DD GeuL fleumesmsL
LwIesTU®EMSI (any two uses)
20. > Bleb GEMQUID MADL JTSHMEIQ6T HOHTHMEST SIILTETH G&MqIILD
GGamenramL. el JHSLD.
> Gueyb Gemquild smamL_gré&smngh Hiiled samyujd efsner GleuLiLLD
o_LApelenenun@Ld.Qeulit QeueNGmiaig HeneLILSeimenLoemiL
2 IS HADSI.
21. 6TCADT(H 6TmI e flung eumL&&emeauuils QLTSS i(PSSHLOT6Tg)
Siflevleitan UM &&Helenl LGS i(pHSMmISHee Fo(hHISGHF FLOLD.
22. PV =nRT
_ nRT
== 3
__beop - _om
o ST " S s8 T a
o\ mb
- "V nRT
—=28; P =5am; R = 0.082LatmK*mol* & T=(227+273)=500K
d=—2X5 34191
0082 X500
23. Sengadl Qeuliublemeouied GemmUTHeTen LigShiGeT L RsluisHeng il

SIGs10mes 6T6IGLMTNenWS Q& meui(hermenest. Gevfl eT6arGL MILITeTTS| 6TLGUITGLD
SIS WwHllenL QUOHND(H&S (LPIGLITE).

C,Hg + O, » 2CO, + 3H,0

44 gymb eretiugy 1 CO,  Gumeon@Ld

2 Gured COz 2 @meaurs 1 Gumed CoHe Comeutiu@ams.

steniGeu 1 Gumed CO, 2 meurs 0.5 Gumed CoHeComauin@aHms




25. X2+ 3Y; = 2XY3 3
REACTANT | PRODUCT
Stoichiometric 1 3 2
coefficients
Number of moles of reactants allowed to | 2 4.5
react
Actual ratio (1:3) 1.5 45
No. of moles of product thus 15
formed
No. of moles of reactant left at the end of the 0.5 0
reaction
26 HY =EV¥ > (1) 3
H eraiug emmidleoBLreflwsr G&uwisd.
YV ereoiugdl oemeodamiy. @a1 Y(x,y,z) et @il niuGaInsgs.
E eaiug Siemiolifler <y imey.
dFy Iy Iy 8w'm
ax’ +E)~_.-*'° Tz T n E-VIw=0
27. @55 61C60SL N6 eTevuTeuiNSHenHemil QUDHM CeumiLl L Siuleon&er 241
6-8m K" & Cl" sjwesilsen
28. | ATECHM ML 1601 1%2+1%4
> @@ MADL IR CLPSFamied 2 6atan QIau( anIsHehésalr &FHH Gy
Hlen g uaNedl(hH&@GLD.
UMM 606 T8 60T
> momne Qresn® HsnIss[HEseM6T &M dHATHT HemguNed(hsELD.
29 | nesens 313K Qaniufmess Qaruu@ssin Curs 1%:87 cwossammn Qobg | 2+
umferv &mhg HenL &&LILGEMS).
393K
CaS0O, .2 H,O0 — CaS0,4.%. H,0 + 1¥%» H,0O
L6L (hSHSI6 §EFmE, CUTED Saemy SWIMHILINED
30. > Yeorgeom &L [fledT QeuliLGSHme0 QeneuiSlmesT Fal lged 2 616 TCeVSLJT6ITHET 2 LI 3
SMHMEL L GHMGS Herje SenLwis CFI6Tmest
> @& WBeank @ueoums gmmed Blenevd@sd HmUD CuTg SIS UITeT
SMHMeL e@aMwimg GeuaMuNL LLBeUSHTL HMEHMGHH & (Ih&H6TMm6uT.
31 V.=3b 1%2+1%
¢ 27ab2
32. |LOTDOTE Sesiane HMID S(PSSSIED b ellnanuiler g4ybu WHDIDL QIS 3
Blemeuget LIOTH LG SieueTleneT @k Liqguned Hspd GCumgierar Qeuliu wmHM
OIS, Sleuallenen LeoLIG&Hafled HemL QUMb Qeulil rHmRIGeNsT Fo(bHISE&EF
FOWD.. IHTaUF elleneuruilest QMG 6T601HMeLL O LOTMHTOED E([HSHESLD.
33. Au =q- PdVv q=400J;P=1latm&dvV=(10-5) L 3
=400J-1x(10-5)
=400 -5 [~1L atm = 101.33 J]
=400J- (5% 101.33)J
=400 -506.65
=-106.65J
34a | HO,= (2x+1)+(2x) =0 Ll




2+2x=0

x=-1
KO;= (1x +1) + (2x) =0
1+2x=0
X=-%
i) Mok Geuneiur_Ld Qamememauieiiig E=hv........ (1) 3
MOV 6T FLOGTLITL_Iq.65TLIIG. E=mC? . (2)
hv= mC? ... (3) V= —;
E - CZ
L =M
. . _
= e T (4) mv=p
h
A= — e (5)
mv
h
= E— ———————————— (6)
b, i) o 2 J5S )| G&Mem1d:6610)] Y941
ST L T6L n-(¢+1) [
4d 1 2
5f 1 3
i) AmmE auflene ZNn > Cu > Ag
35.i) | > Sevlhseiler QuIDNuIEL LMHMID Ceudluuied LT & Sieummie i)l
616U & A6 g LILIEMLUTED S6MLDIHGI6TTENG).
i) > Qeueégal lgenieTen QmauHMe (TQEHLJTaTSHeTe0 2 qulu@L By 2+1
SIEI&E (B LDIGITE6MLOUIMGLD.
> QeEwIm SInds® Wssmw Z* =7 —S
AUHIEG auflans f>d>p>s
b, i) | CLLEMELENLL SE6L SieMLDbGI6TET GHevTLoMmISeren L& EhsElemL Gl STerrliu(RLD 141
@DOMIENIDG SH6iTenLd LML L QT FUTGLD.
61-6 ; QHHWID HMID Q&AWL Gy LIHITLIS @56 IS
i) > BLIREN6 TALELITE SHeUTHMEDT LS HSSLD 1%2+1%
> G NH3zufed cpevésamisEps@HemLiLl L namL Fgemienemi]
STeuLIL(GEHMS).
36.a) | CHs+2D2 — CDs+ 2 H2 1%+1%
i) 2NH3+3D; — 2ND3;+3 H>
i) 2 _GeumamiGeT MMID 2 Ceunsd Heuemealsailstt emN&EGCarameal @QemLCleuafsefiled 2
QL JR6T STELLUGHDS. Qenel Q6L CF(H&D MmamL L MGLD.
b, i) | » 6T&dL LMMID UMHSeTled (WEHEWIL UGS QUTIHaTTSHELD, 15+1%%
STLHCLMefllesT LMHMID UM enGIMUE aOTIGLOTETISETTL @QIéHS S5 HeL
SIG60T a6 LPTSSLILGEMDE.
> Q555560 STELAIWET GMOMUTLLTL QIHHLD 2 mMeUHDHEG SHS ChILD
SAHDGH.HMEF G(H55H5SHDG (PSEHI SMTEIDTHMS].
i) @@, eumyeller aljeyged aiBLMeaIg G GCmeomyhlammuiler alfsHseLpe0SHHME 2
THINSSSHL QBESLD
. . 1
eleysed afs (1) o M
37, _ld4gmol™ 3
a) I) _"“-I_YE’-' = tNZ = mN? Mgy
N. teurr (210 >
T, W B Mo =14tgmol_1x(192 sec)
84sec _ [14gmol™ 84 sec
192 sec Mgy, Mg, =73.14 gmol™
i) 2

AWwiedY UM ES6T HeLedlwsLLH SHeemuledmha eNevseLeug PV wmmin NRT
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CLOSOTMIMLD Sieooio L e0T Gleuliu  swrSlsoo aouale
SNBSS e S Bas SHsToLD UL | S5 (SIHLD
il S GBS ensiT Sleuri sLorBleos a0 uIlsd SR s LD,
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CseLN6T-LNeMMAIS FadmI: (6 (L(LHEOLWITET &MHMIEL e QUTHeNGBHS

Qeuliugeng 2 MEh& ML 6THSHMSI FMIDTMHMHE NS W|LD

FOURSSTOE (P (LPEUGILLTE GCalemeowins WLIMMEFalgll @ QWIhHIHms

QllqIMLDES @ILICOTS)
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38. 3, i)

Element

Relative

Y
=}
o

Percentag
e

molar
mass
moles
Simplest
ratio
ratio(in
whole nos)

=

O

80% 12 80/12 =6.67 6.67/6.67=1

H

W1 Simplest

20% 1 20/1=20 20/6.67=3

eteMwt eumium(® = CHs
cpev&Fam| eTenl = 30
eTeMwenmiium_lgeor 6TemL. CH3= (1x12)+(3x1)=15

n =

CLOCLSFa M) 6TEDL =30 _ 5

eTeMUIEUMUILITLLq.63T 6T6ML 15

epevdgam eumiun® = (CHs)n = (CHs)2 = C2He
i) Cu+ HNO3z — Cu(NO3)2 + NO2 + H20

0 +2

Cu —  Cu(NO3)z2  2e-
+5 +4

HNO; -  NO; T oe-

(Cu - Cu(NO3)2) x 1
HNO3z — (NO2)x 2

Cu+ HNO3z — Cu(NOs3)2 + 2NO2 + H20
Cu+4HNO3 — Cu(NOs3)2 + 2NO2 + 2H20

U =NaCl &b Lig&&n(b SHHMED
AH, =AH, + AH, + I/ AH, + AH, +U
g e B 1
~U =(AH, )—( AH, +AH, + 1] AH, + AH, )

U = (-411.3) — (108.7 + 495.0 + 122 — 349)
U = (-411.3) — (376.7)
U =-788 KJ mol™!

GOVT HR.SEC.SCHOOL
THIRUMANJOLAI - 630 561




